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Al 3,040
MIlE SR 280,240 276,115 4,125
o 15,000
2 5,000
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201 Let23d| 5,000 6,000 A 1,000
01 AtR2t2lH| 1,500 1,000 500
Ogs+Yy H& S 1,500,000& * 14 1,500
02 =323l 3,500 5,000 A 1,500
OASANEE FHIRX & B
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400,000& * 5= 2,000
206 M= 4l 22,000 17,000 5,000
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EHel MJIZ SRR N (St 2g)
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Ontsld=sAld 29 212d| 16,177
SRUE =l 41,8003 » 1% » 287 11,997
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MOz sgXY 223l 3,000 3,000 0
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01 =LA b 3,000 3,000 0
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& 15,000
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405 Kot S| 30,000 30,000 0
= 15,000
Al 15,000
01 XL SSFHSHI 30,000 30,000 0
O=Adia Fbl 30,000,000& » 14 30,000
= 15,000
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= 5,000
Al 5,000
01 M=H| 10,000 10,000 0
ONsgd=sI|=8FMUIA(ZA)
10,000,000& * 14l 10,000
= 5,000
Al 5,000
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101 1A H] 9,000 9,000 0
= 6,300
Al 2,700
04 JIZHMIZ2XNSE = 9,000 9,000 0
OX9=sgll=dEs X A
9,000,000& * 14 9,000
= 6,300
Al 2,700
201 LEH2HH| 11,000 0 11,000
7,700
3,300
01 AtE22/H] 11,000 0 11,000
Oe-HILIANIA &d 35t 11,000
< 1 IH M & 1,000,000& * 14 1,000
= 700
Al 300
oZdAg ¥ A= 10,000,000& = 14 10,000
= 7,000
Al 3,000
301 et as 5,000 0 5,000
= 3,500
Al 1,500
10 HAAHIZ2 &3 5,000 0 5,000
Oe-HIRLIAZAS HAMHIBY
5,000,000& = 14l 5,000
3,500
1,500
sHZAAMLLE D 2F A 3,000 4,000 A 1,000
202 O4Hl 3,000 4,000 A 1,000
01 WA 3,000 4,000 A 1,000
Osgadd 2ol 600,000& * 5H 3,000
sgZdlssdaEs 6,000 6,242 N242
3,000
3,000
201 LerE2El 2,000 1,500 500
= 1,000
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A= =5l MH SN 22D
M SNSEISN MIIEES(STHLLM/5Y - 55)
D =YAYMS U B (erel: @2
_ _ N e =
=24 -3 -H2A(SH) - NRAY - BEZ Ol AF o8 HwsZ
A 7,000
01 A22t2IH| 2,000 1,500 500
o2 M 2,000,002 * 14! 2,000
= 1,000
Al 1,000
301 LeHE AR 4,000 4,742 AT42
= 2,000
Al 2,000
10 BAAHI 242 4,000 4,742 AT42
OBArAIH| 24t 4,000,0008 * 14 4,000
= 2,000
Al 2,000
e-HIXILIA 283 AAY 20,000 0 20,000
402 QIEXHEOIH 20,000 0 20,000
01 QIAX=RE 20,000 0 20,000
OLSE 2= ¢ EEH M
20,000,008 * 17§24 20,000
=01 H Y ALY 22,000 0 22,000
201 Lete gyl 22,000 0 22,000
02 ZBSIH| 22,000 0 22,000
OsIIHL A 22,000
oy 282 75,0008 * 40CH 3,000
o=y Sl 10,0008 * 1505 15,000
o=} D88 ]|
1,50020 * 2,0002] Ef 3,000
o=I12 Il I 200,0008 * 5% 1,000
=01 H =3 | 214,500 0 214,500
201 Yer2y| 4,500 0 4,500
01 At2elt| 4,500 0 4,500
OsJIAFYE A28 7Y 5,008 * 5008 2,500
OSIIAFHIE & B2 P 50,0008 * 405 2,000
206 THE U 60,000 0 60,000
01 THEHl 60,000 0 60,000
O=3l = 23 60,000
o= H =8 ZHl 22|
60,000,0008 * 1! 60,000
301 LerE A= 150,000 0 150,000
12 JIEtR A S 150,000 0 150,000
O=JIHEH B4 X2
150,00024 * 1,000+ 150,000
SIIHES ALY 20,500 0 20,500
= 10,250
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A= sg8J|=dH M =230

NN sNSBREN MISED(SYNSLL/5Y - 5E)

ool S ¥ H235 (H:®2)
A2 =2 HH . (5 - MIEAIY - BHA2 O] Ak OH S Hn=2
= (=) iy o L) ° - = e e =5 O:H{ﬂ,% Lsa

Al 10,250
301 LEEAZ 1,500 0 1,500
2 750
Al 750
10 At HIEA 3 1,500 0 1,500
OsJIHus=# 1,500
oxsJ|H EE0IE)=UE SAE4H
1,500,000& * 14 1,500
= 750
Al 750
405 KtatF S| 19,000 0 19,000
= 9,500
Al 9,500
01 XL SSFHSHI 19,000 0 19,000
Oog=alIE & NEEs MIIs &l 19,000
ocxsllHussd &Y 7
19,000,000& * 14l 19,000
= 9,500
Al 9,500
Hetdse Jl=E3 1,745,026 1,209,028 535,998
= 347,734
& 250,000
& 72,642
Al 1,074,650
Etdsgy 2l 29 49,177 30,213 18,964
101 el24H| 16,177 15,713 464
04 JIZtMZ22XSE+ 16,177 15,713 464
Oz sz aela 249 11,997
o Ql2d| 41,8003 » 287 11,997
OEXANE MFA Z XA 41,8003 = 100 4,180
201 LEt243| 3,000 1,500 1,500
02 3224l 3,000 1,500 1,500
OANEEZ&4 AZHI 1,000,000 » 14 1,000
OHMXeIAlE =Xl 1,000,000& = 14 1,000
OANEZ24&4 ZFHIRX 1,000,000& * 14 1,000
206 M= HI 10,000 10,000 0
01 =z 4l 10,000 10,000 0
ONgz&aels 29 10,000,000& * 14 10,000
401 AEHILSTHHI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OBUKRIAIE HE4Hl 20,000,008 * 14 20,000
TEtdsgy AEIIBtRS 201,700 171,000 30,700
201 LBt 500 0 500
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04 Nz

ol zla
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[ O
1@
S

_ - PSfEN== =
AR RN SR(SH) - NRAY - BHES 0 & 24 e HRE2
01 AtS 22l 500 0 500
OzlstddAs S+ 100,000& = 504 500
301 YptsBazg 1,200 1,000 200
10 ALAHIE &= 1,200 1,000 200
O¢Alla X S4 6,000& * 200 1,200
402 2I2H X201 200,000 170,000 30,000
01 SIZHGEEX 200,000 170,000 30,000
OStDIA HBZ ¥ NS
200,000,000& * 14 200,000
SAZSE ZA=01J1 &N 222,700 6,000 216,700
201 LEHRHH| 115,500 0 115,500
01 AtER22/Hl 115,500 0 115,500
Ozd=5 2 Z2HIZHI| LIt
300,000& = 130ha 39,000
OElbl At =9 M& 100,000& = 150H 1,500
O=sHI&s & sIIAH X
150,000& * 500ha 75,000
206 M=l 1,000 0 1,000
01 M=l 1,000 0 1,000
OFESIHFIIMNY MHE 1,000,000& * 14 1,000
301 et as 6,200 6,000 200
10 HAAHIZ &3 1,200 1,000 200
OElHI e HAIUE 4L =4
6,000& = 200 1,200
12 JIEtEA S 5,000 5,000 0
OSIBIMa 24012 A3
5,000,000& * 14! 5,000
402 SI2HHE01& 100,000 0 100,000
02 QI2HCHEH AL HI 100,000 0 100,000
O=sHIAZSSTUUXAAME 1,6008 * 62,500kg 100,000
ELNE M A& 245,895 253,960 A8,065
= 196,716
= 14,754
Al 34,425
402 QI2HRHE01M 245,895 253,960 A8,065
= 196,716
= 14,754
Al 34,425
02 CIZHCHEHAFHHI 245,895 253,960 A8,065
OEL MM 245,895,000& = 14 245,895
= 196,716
& 14,754
Al 34,425
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N BEE SN IlEE2D
B sASEISM MIIZEHI(SEHS AN /S - SE)
D HBEsY JsEaE (Srol: &2
- _ _ Muo
=24 ZH - HR(BH) - MEAY - ByS Ofl AF o4 Sl ko HRE2
EFMIIEsESAE 123,000 4,000 119,000
202 O4Hl 3,000 4,000 A 1,000
01 2UhoiH| 3,000 4,000 A1,000
OHBHSY 20| 1,000,000 * 38 3,000
206 M =4l 20,000 0 20,000
01 M=Hl 20,000 0 20,000
OsM2oHY SHM2Y 2
20,000,000 * 14} 20,000
402 SI2H X201 100,000 0 100,000
01 It EEX 100,000 0 100,000
O MESADI T4
100,000,000 * 14! 100,000
S ASHEI=XA (2E=Y) 12,000 12,000 0
= 6,000
Al 6,000
101 QI Z4H| 6,000 7,000 A 1,000
= 3,000
Al 3,000
BIEEEP R 6,000 7,000 A1,000
OEYAFY 29 6,000,000 * 14] 6,000
= 3,000
Al 3,000
405 AHoHESHI 6,000 5,000 1,000
= 3,000
Al 3,000
01 MHARESFSH 6,000 5,000 1,000
OELAZTA 2Z(2=71) 6,000,0008 * 14 6,000
= 3,000
Al 3,000
ABHSNNS2 4,800 5,040 A240
= 1,440
Al 3,360
402 SI2t X201 4,800 0 4,800
& 1,440
Al 3,360
01 It HEEX 4,800 0 4,800
OHBASTH 23
9,600,0008 * 141 * 50% 4,800
= 1,440
Al 3,360
ANNES BHES BHSLNA 1,550 9,150 2,400
= 4,620
= 1,386
Al 5,544
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AT SIS ME SN )E22 D
I SASERSN MIIERS(SYHSLL /52 - 55)
P DBE AYRE AFMY (25l &2
_ _ SIEN
22N FH O (BH) - MEAY - B 0ff &+ o4 il i~ o Hnz2
A 487,549
DEZM MY 22 188,000 199,000 A11,000
201 Yer2 Yyl 3,000 0 3,000
01 A2l 1,000 0 1,000
ONEIVA L HBE2Y 22
1,000,0002! * 14! 1,000
02 IT2Y| 2,000 0 2,000
OBz 2% FHIRXL
1,000,000 * 14! 1,000
OYHBNTA U JABEIHI2Y RN
1,000,000 * 14! 1,000
206 2| 15,000 13,000 2,000
01 HEb| 15,000 13,000 2,000
OSEXNTH HHII223
5,000,0002 * 1Al 5,000
OBZ2la U AT 2YWE
10,000,002 * 14} 10,000
402 QIR0 170,000 86,000 16,000
01 PIIXI=EE 170,000 186,000 16,000
OME22 2=FI I HHASAE
50,000,0002! * 14! 50,000
SES 02y YN ADlE ASAH
50,000,0002! * 14! 50,000
OYHBHE HESI 54
10,000,000% * 14} 10,000
OFY FE0IMM ALHSXEY
50,000,000 * 14! 50,000
QNS Y Iy SUBY MAAH
10,000,002 * 14} 10,000
DE LS AFML IS 120,000 80,000 40,000
402 RI2AX 201 120,000 80,000 40,000
01 PINX=EE 120,000 80,000 40,000
ONEX YS2 AHSXEH
100,000,008 * 14! 100,000
OESHR Y25 MuEX =4
20,000,0002! * 14! 20,000
SYEN MHHHE s 60,000 58,530 1,470
206 T2 35,000 35,000 0
01 HEt| 35,000 35,000 0
OBS44(F) HAME SASK 7
30,000,000 * 1Al 30,000
Ol EZZINSUEE 2
5,000,000% * 14! 5,000
402 RIR 20| 25,000 20,000 5,000
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A3 s EME SN )E22 D
HE: SASEIHN MIIE2E( Yr/BY - BE)
DEI AYTS HFYN SRE
_ . HEE
2 RA MO (BH) - MBAY - B2 il ot o =2
= 5,875
Al 5,875
VIBEDTEESEERS 11,750 1,850 A100
OBHETA 2 11,750,002 * 14} 11,750
= 5,875
Al 5,875
201 LByl 500 0 500
= 250
Al 250
02 IT2YH| 500 0 500
SELEFI=PNEX-Ti] 500,008 * 14 500
= 250
Al 250
206 T2l 750 750 0
= 375
Al 375
01 T2l 750 750 0
OYENTA 29 WY 750,002 * 1A 750
= 375
Al 375
BE3Z 2304 MUK 15,927 24,945 £9,018
= 4,778
Al 1,149
307 QI2H0|H 15,907 24,945 £9,018
= 4,778
Al 1,149
08 OIXHZF 2 15,907 24,945 29,018
OHEB23 230t MUK
5,927,002 * 14 15,927
& 4,778
Al 11,149
DEZAYRSUHTMN 29 3,000 4,000 A1,000
202 Oit| 3,000 4,000 A1,000
01 2UHoiHl 3,000 4,000 A1,000
OMZXE 20 1,000,0002! * 3% 3,000
B R=2 AT M AlY 45,000 37,500 7,500
= 13,500
Al 31,500
402 QIR 201 45,000 37,500 7,500
= 13,500
Al 31,500
01 PINIX=EE 45,000 37,500 7,500
O 2=3 I MA5AH
45,000,008 * 144 45,000
= 13,500
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